Potencias de 10 (G)

1.2197+0.1

9.1321 +0.1

476 +0.1

1.44 0.1

5.5399 +0.1

9.1542 0.1

6.3102+0.1

7.0835 0.1

9.3093 +-0.1

1.2459 0.1

Calcule los siguientes cocientes.

1.3048 0.1

4.2606+0.1

7.9826 0.1

1.0252 0.1

7.409 +0.1

1.4744 =0.1

5.3256 +0.1

2.6782+0.1

9.2467 0.1

4.9872 0.1
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Potencias de 10 (G) Respuestas

1.2197 0.1
12.197
9.1321 +0.1
91.321
476 +0.1
47.6
1.44 0.1
14.4
5.5399 +0.1
55.399
9.1542 +0.1
91.542
6.3102 0.1
63.102
7.0835+-0.1
70.835
9.3093 +-0.1
93.093
1.2459 0.1
12.459

Calcule los siguientes cocientes.

1.3048 = 0.1
13.048
4.2606 = 0.1
42.606
7.9826 0.1
79.826
1.0252+0.1
10.252
7.409 +0.1
74.09
1.4744 0.1
14.744
5.3256 +0.1
53.256
2.6782+0.1
26.782
9.2467 +0.1
92.467
4.9872+0.1
49.872
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